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202 04l 2,290 2,630 A340
01 2LHoIH 2,290 2,630 N340
OgatExt e 2,290
o201l 20,0003 =2H+3&* 122 1,440
o 22| 04| 85,0002 x2E * 12 %53 850
22X+ 23t2 Hel AIEE el 198,226 103,282 94,944
101 e124d| 42,666 41,242 1,424
M ORNZZ2NSE S 42,666 41,242 1,424
O23tel Hel AlEE sX2el 24,821
o022y 76,9603 x 1«52 »465= 17,701
oFFrY 76,9602 x1& *46== 3,541
SMEID BHEAY
6.,0802 x 1 +6& 463 1,679
oAREER 1,900,000 14| 1,900
O=23te] JHel AldE 2g(=3AE 838
BI) 17,845
oQIfY 76,9602 x2H 62U 165 12,314
oFgay 76,9603 x2H x 165 2,463
ocMaz 2MrE
6,080 2 +6& * 165~ 1,168
oMeEEE 1,900,0002 %14 1,900
201 er=2 3| 54,600 60,600 26,000
02 S3=gHl 54,600 60,600 26,000
OsE2= & HA 14,600
oMJI|= 1,000,000& «12& 12,000
cuotrEER 500,000 x4 2,000
osME 50,0002 123 600
OAEEHIR X 40,000
o232 Hel & AMEE |Al&al
40,000,000& *14] 40,000
202 04l 960 1,440 A480
01 SLHoIH 960 1,440 480
OW=2X7 25t2 JHels AldE 2l
20,0003 x2EH 22 x 12 960
401 AIZHIX S0HH 100,000 100,000
01 AlZH| 100,000 100,000
OZ3tel Hel g4st Al
100,000, 0003 * 14! 100,000
CAITHE A 211,378 134,078 77,300
201 2= 78,898 72,498 6,400
01 At2t2lt] 21,918 13,518 8,400
Oggt=3=H| 6,468
oA 2dethE MESNE
1,617,000 x22]*2IH Ak 6,468
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O=2g+¢ 4,700
STAMMSRS EASY
100,000 x15EH*23] 3,000
o AR wWSHI
85,000 * 102 *22] 1,700
OZAINEAS 22 10,750
o AIMAAY K22 =&
100,000 *3A| 2H+5H 52| 7,500
o AIHAIY NIHES 4 WSH|
130,000& 5 +53] 3,250
02 S52g4l 30,980 32,980 22,000
O382= £ HA 21,000
oFUES0IEANE 32
300,000 *50H A+ 123 18,000
oA SXIESE AHald|
3,000,000 *14] 3,000
OAlZ &I Xl 9,980
oFUES0IEAE HHI=AH|
1,600,000 #5704 A 8,000
o8+ HRLEWH s2J| A2+
83 165,000& 122 1,980
03 A2 I 26,000 26,000 0
OZAlITHdNs & FRlog o278 29 26,000
cGAZE S S 45 HAIRY
6,000,000& 22 12,000
o AT 23 AL HEdst T2
29 2,000,000 *23] 4,000
oFdlggdst 128 29
5,000,000& 22 10,000
202 04l 13,680 13,680
01 2LHoIH 13,680 13,680
OZAIMEAIY =8 & SSYFX SR
S AL 4 8,200
o2ty 20,0002 x2EH*102* 122 4,800
o2t 85,0002 x2&*22 %102 3,400
OSSH gdst & =8 & TAITHA A
&4 0l 5,480
o2ty 20,0003 x2ZH*102* 12 4,800
o2 85,0003 x2EH 22 +23] 680
203 =4l 5,400 5,400
03 A= PR FZ| 5,400 5,400
OZAINEANS HRFA
5,400,000 * 14 5,400
301 EtE NS 3,400 2,500 900
11 dAMEEIXIZE S 3,400 2,500 900
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50,0002 x102 <33 1,500
OFAMNEAIY FHEEH 4| 24
19,000& 102 %102 1,900
307 212+01& 70,000 40,000 30,000
02 LB MANHEE 70,000 40,000 30,000
OZAITHY 2R S2A
70,000,000& *14] 70,000
401 Al HIZ 2018 40,000 40,000
01 Al&H| 40,000 40,000
OFANEAY 82 E4
40,000,000 *14] 40,000
CAIHA X2 S E 407,475 389,828 17,647
101 21AH| 385,467 348,948 36,519
04 JIZtN2 2N S 2+ 385,467 348,948 36,519
OZAMEXI HAE MES 78,946
=JllEa 5,223,830« 18~ 12& 62,686
== 8,260,000 «1H 8,260
SRS 8,000,000« 1 8,000
OZATHAXZHE MRS 63,692
=JllEag 4,327,330« 18~ 128 51,928
o2EE 5,764,000 ~1H 5,764
SRS 6,000,000 1 6,000
O ATHAEXZME B 166,311
S 3,769,750 «3E «12& 135,711
S3-—t=7= 5,200,000 x3H 15,600
S 5,000,000& *3H 15,000
OZAIMMEXZHEH & 31,960
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oNPEBHI(EH, =8 8)
700,000 * 122 8,400
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03 A= PR FAI| 2,000 0 2,000
OEAMAESZAIY S R2FA
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101 ©1AH| 31,964 30,167 1,797
M IRMZZREE 31,964 30,167 1,797
OZsHA7 EXJME & 31,964
SES= 76,9602 1 *22& * 122 20,318
oFFrd 76,9603 142 x 12 3,695
cdiggs 2d=H
6,080 x1H*262* 12 1,897
oA\ Xt=E 76,9602« 1H*12x 112 847
S3—t=7= 2,800,000& 1 2,800
SRS 2,406, 140314 2,407
201 er23| 5,800 32,000 A26,200
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Odgt==H| 3,400
oBHTXNZHH 4225 S 2EXE
200,000 * 122 2,400
CcTATHYAIY 222 2 OISJISE M&
1,000,000 %14 1,000
02 S3=gHl 2,400 2,400 0
O s=52= € Al
200,000& * 128 2,400
301 22N 3,600 41,976 A38,376
11 AALAEIXIE S 3,600 3,600 0
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2 A A 10,0002 *15& %42 600
OMEDtSAY &KX A5t S
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OF3HK7 ME0SAMY
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el SAITHAANS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORNZZENSE S 94,458 30,167 64,291
Otk X2 B 56,437
S 3,769, 7503 1«12 45,237
oHEE 5,200,000 *1H 5,200
SRS 5,000,000&*1H 5,000
OgteiXl7 SEXAME B 31,964
o2y 76,9603 x1H+222U x 122 20,318
oFFrd 76,9603 »1H =4 x 122 3,695
oMU EHSE
6,080« 1H*262 * 122 1,897
oA Xt 76,9602 x 1B 1L+ 11E 847
=1 2,800,000& %1 2,800
oEl A= 2,406,140 «1& 2,407
OAlt2I22+E
12,3213 x 1 +25A1 2t 123 3,697
OZHEHNH 20,0002« 1H+72* 122 1,680
OdHZAHI 140,000 x 12 * 122 1,680
201 er23| 15,800 8,000 7,800
01 AtR2t2|HI 3,400 5,600 22,200
Odgt==d| 3,400
oBHTXNZHH A2E5 S 2L
200,000 * 122 2,400
oTAIMYAIY S22 S &
1,000,0002 %14 1,000
02 S3=gl 2,400 2,400 0
Ol ZAAHH s52= & MA
200,000& * 128 2,400
03 A2 Y] 10,000 0 10,000
OZM=A S&d5t & 2EAH
10,000,000& *13] 10,000
301 EtE NS 3,600 41,976 A38,376
11 dAMEBIXIE S 3,600 3,600 0
Otk mEAUY UL LSAE &
Ab &4 10,0002 15 %42 600
O A =EAMP L& Hs S
50,0003 * 152 *42] 3,000
307 elztol & 30,000 100,000 70,000
02 2B A HE L 30,000 100,000 70,000
OstA Xl ZAIMA =2IHet SEA
30,000,000& » 14 30,000
CAHY FEAL(RSXITF) 8,481,978 4,728,600 3,753,378
[ 5,008,200
Al 3,473,778
101 21A4H| 93,978 114,063 A20,085
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M ORNZZENSE S 93,978 114,063 A20,085
O=SA7 XN B 56,437
S 3,769, 7503 1«12 45,237
oHEE 5,200,000 *1H 5,200
SRS 5,000,000&*1H 5,000
O=SX7 SEXAHE B 31,964
ool 76,9060 124 %222 x 122 20,318
oxgsg 76,9602 12 x4 122 3,6%
oMEIRE AL
6,080« 1H*262 * 122 1,897
oA Xt 76,9602 x 1B 1L+ 11E 847
=1 2,800,000& %1 2,800
oEl A= 2,406,140 «1& 2,407
OAlt2I22+E
12,3213 x 1 +25A1 2t 123 3,697
OZHEHNH 20,0002« 1«52 * 122 1,200
OdHZAHI 140,000 x 12 * 122 1,680
201 er23| 17,400 3,600 13,800
01 AtR2t2|HI 2,400 3,600 21,200
Odgt==d| 2,400
oBHTXNZHH A2E5 S 2L
200,000 * 122 2,400
03 Ar=EHI 15,000 0 15,000
OZM=A 285t & 2EAA
15,000,000& *13] 15,000
301 EetE2 N = 3,600 41,976 A\38,376
11 #AIAHIXIZ S 3,600 3,600 0
O=sX7 REAEUH =SS otAr o
Ab B4 10,0002 *15& *43] 600
OZANY =EAY TR At S
50,0002 *15E *42] 3,000
307 elzto| & 20,000 20,000
02 2B YAIHE £ 20,000 20,000
O=sA+ ZAMY =M SZAI
20,000,000& * 14 20,000
403 AXIEHMSAH=201H 8,347,000 500,000 7,847,000
[ 5,008,200
Al 3,338,800
02 S 2SS0t et =& 2 €A | 8,347,000 500,000 7,847,000
OREXT TATHY SIS SIEAI]
8,347,000,000& 14] 8,347,000
s 5,008,200
Al 3,338,800
FHAXAME(ZA-FEX T MEDHS) 1,849,597 1,765,000 84,597
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= 1,229,000
=S 158,000
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101 21AH| 31,964 31,964
04 JIZtN2Z2XNSE 31,964 31,964
OFaXl7 SHEXHE B 31,964
o012 76,9602 1 H 22 * 122 20,318
oFFrd 76,9603 142 x 122 3,695
cMERR AL
6,080 x1H*262* 12 1,897
oA\ Xt 76,9602« 1H* 12+ 112 847
S3—t=7= 2,800,000& 1 2,800
S 2,406, 14031 2,407
201 eer23| 10,800 8,000 2,800
01 AFR 22| 3,400 5,600 £2,200
OBINAME 228 S 29N
200,000& * 128 2,400
O=aXl7 822 € JIS= &
1,000,000 *14] 1,000
2 35234l 2,400 2,400 0
Os&82= € MA 2,400
oHlE BZRI(MIIZ, PBER )
200,000& * 128 2,400
03 A2 I 5,000 0 5,000
OZNZEA Agdst & 282
5,000,000& 12 5,000
301 LEtE NS 3,600 65,480 261,880
11 dAMEEIXIE S 3,600 3,600 0
O=&TX7 ME0ISMUL FUASUSIAL
2 A EA 10,0002 x15%42 600
OMEDtEAY d8X A &
50,0003 * 15 *42] 3,000
401 Al HIZL S 0HYI 1,608,233 1,541,520 66,713
= 1,092,000
=S 140,500
Al 375,733
01 AlZ8| 1,602,444 1,526,007 76,437
O=&X= ME0tSAY
1,608,233,000&+99.64/100 1,602,444
= 1,092,000
= 140,500
Al 369,944
03 A& S CHYI 5,789 5,513 276
OF &K+ MEOHSAMZ(0.36%)
5,789,000 * 14 5,789
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402 QI2F X201 & 195,000 150,000 45,000
= 137,000
== 17,500
Al 40,500
02 QI XH2AILEE (01X THE) 50,000 150,000 100,000
OF4XT MES0IE 2Y 0128 2|2
g 50,000,000& * 14| 50,000
= 35,000
== 4,500
Al 10,500
03 2I2+RIETAIS I 145,000 0 145,000
OFAXT MEOIS B2l XA (2XH)
145,000,000 *14] 145,000
= 102,000
< 13,000
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< 89,000
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= 954,000
=S 89,000
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1,265,000,000& x14] 1,265,000
= 954,000
=S 89,000
Al 222,000
3 =2 2125 &4 399,436 362,485 36,951
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101 e124d| 157,436 150,675 6,761
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OsgZi=s &Ed| 157,436
o2y 110,823
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-2 76,9603 x2H+35F=+2 10,775
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oFFd 22,165
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- 76,9602 x2EH *x355=+0 .4 2,195
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o9l 22 =2 2025 X4 (o) @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Osga&NE =HELN 243
150,000,000 *14] 150,000
=2 ZUANEE e 2 FHl 30,000 45,000 15,000
401 AIEHIX R0 30,000 45,000 15,000
01 A28l 30,000 45,000 215,000
OMEe NFAANU &=
3,000,000 *109H 2~ 30,000
Y2 ZHI(SAITHA L) (O1EH/DIE) 88,527 92,441 23,914
el 2| 17,459 21,621 N4,162
el =gl 17,459 21,621 N4, 162
101 @124H| 17,459 21,621 N4,162
03 SRH(RIH )22 U2+ 17,459 21,621 A4 162
OAteI22+E 13,990
oIPAZ(ARH)
13,8703 2 *20 A1 2t 12 +150% 9,987
o<LBAZ(RESHEH)
11, 1183 * 1 +20A| 2H+ 12 x150% 4,003
O ] 3,469
oA Z (N EEHSH)
88,9482 x1H*262! x150f% 3,469
J1I=238l 71,068 70,820 248
Jl=23H] 71,068 70,820 248
201 el 32,904 32,902
01 At22t2lt] 32,904 32,902
Ogit=ZH| SUA4
13,320,000 » 14 13,320
OSgHl S9AHd 19,584,000 *14] 19,584
202 04| 24,640 24,640
01 2LHA b 20,800 20,800
O=2AM2Y I SWAH A
13,600,000 * 14! 13,600
OZ2A(2I1H ) 2o 7,200
o Ob Az 25
20,0003 2H 5« 123 2,400
o (L AZ(NEHEH)
20,0002 x 1 +202 * 122 4,800
02 XN 3,840 3,840 0
O=ga&ls =2 N0
160,000& x2&« 123 3,840
203 HR=AH] 13,524 13,278 246
01 D[22 LR FA| 6,000 6,000 0
OZAINEAMS S 6,000,000& 6,000
02 32 JRHH 2= 3,324 3,078 246
OZAIAIZAISE X2 ADIEE ZHI(ZR 1
30H) 3,324,000 14] 3,324
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